
D ( 1 : 5 )

D ( 1 : 3 )

C ( 2 : 3 )

Base frame

A ( 3 : 2 )

Tool monuting flange A6

B-B

D

B

B

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

kg

m=
kg 

 

 

P=

U=

Imax=

kW

V / Hz / Ph

A

 

 

 

 

p=

V=

bar

l/min

 

 

 

AT_00026-SE01

A

proj. storage 

surface =  m²

First angle projection

Connecting dimensions, valid for article number: AT_00026-SE01
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More information can be found in

the document "calibration dimensions"
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(DIN ISO 4014/4017 -8.8)

the tightening torque

for these screws 

is 390 Nm (in steel frame)
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More information can be found in the

document "Load on tool flange"
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